76,6 daL=

1

DA ezl sl

50dL=.................. mlL «.1
622dg=................ mg «.2
2

126 L=t dL «.1
952 kg=...... ... ... hg «.2
3

46,bcm=................. m <1
1,56 dm=................ km «.2
4

1,46 hm=................ km «.1
63,8 dam=.............. hm «.2
5

42hL=.................. dL «.1
793 dam=.............. hm «.2
6

171hm=................ km «.1
6,25 hL=................. dL «.2
7

s aJudi C_s){._'}_zﬂ\ J'_?_'.T

4 el dmdo
belhocine : https:/f5r0f27math.weebly.com/



66,2 dag=............ 5% dg
1,7 hL=..........s3% ... dal
6;13dm=................ hm
732km=................ dm
454dalb=............... dL
23dal=................. hL
96,4 hg=.................. g
T8 g= i dg
558 hm=................ cm
6,04 hm=................ km
70,7dag=................ kg
478 L= dL

<.5

<.6

<.5

<.5

<.6

<.5

<.6

<.5

«.6

<.5

<.6

6,68 dal=................. L «3
503daL=............... mL «.4
7,15 dal=............... hL. «.3
6,4dal=................. cL «4
93.8m=................. hm «.3
6,27 g=. ...l mg «.4
9,03 8= ... i cg <4.3
386dg=................ dag «.4
767dm=................ hm «.3
9,03 L=.................. dL «.4
115dm=................ hm «.3
827 dal=................. L «4

80,3dalL=................. L «1
64dg=...........it. kg «.2
8

482m=................. cm «.1
1,83 dam=............... km «.2
9

478 dm=............... mm <1
28bcm=............... dam «.2
10

136 L=................. dal. «.1
473 kg=............. mg «.2
11

721 dag=................ cg «.1
2,0ldag=............... mg «.2
12

TI,8m=................. cm «.1
879 dL=............... dal. «.2
13

s adll eMgmeall sl

4 e 2 dmdo
belhocine : https:/f5r0f27math.weebly.com/



124dm=................ hm .1
30ldL=............... dal. «.2
14

908 g= ...t dag «.1
80,3cg= ..., dg «.2
15

96,2dL=................. cL «.1
126 L=.................. dL «.2
16

877dL=............... dal. «.1
542 cm=............... dam «.2
v

13,6 L=, hL <1
833dL=........ccvor.... cL .2
18

6,42 km=................. m <1
or6cm=............... dam «.2
19

s adll eMgmeall sl

4 e 3 dmio
belhocine : https:/f5r0f27math.weebly.com/



\}
<
S

6,2dm=.............. éO\sm <.5 528 hg=................. cg «.3

288 cL=......... \$® daL «.6 | 24dL=.................... L «4 [494hg=.......o.oonn. dag «.1
(5'\ 77l hm=................ km «.2

AS
v
QO
W
%0
R

4 e 4 dmdo
belhocine : https://5r0f27math.weebly.com/



32,5dm?=......... dam?

71,9hm? =.......... km?

5,20hm?=........... m?2

6,4dam? =. ... ... ... dm?

79, 7hm? =......... dam?

3,0lkm?=......... dam?

58,2dam? =......... km?

35,3dam?=......... hm?

1

DA ezl sl

5,98dm? =.......... cm? <1
8l,4cm? = ... ...... mm? <.2
2

92,3dm?=.......... cm? <1
4,94m?=.. ... ..., .. dm? «.2
3

95,1dam? =......... hm? <1
9,72dm? =.......... cm? «.2
4

3,33dam?=......... hm? <1
1,75dm? = . ........ dam? «.2
5

97,3cm?=......... mm? <1
5,15km?2=...... ... dam?® «.2
6

71,9cm?> = . ........ mm? «.1
59,5km? =.......... hm? «.2
7

WA [ ERAIPESA sl

_ 4 el dmdo
belhocine : https:/f5r0f27math.weebly.com/



4,85m?=........... hm? <1
64,1m?=........... cm? «.2
8

42cm2=. ... ......... m? <1
7,1hm?=..... ... ... m? .2
9

9mZ=............ hm? <1
3,33hm?=........... m? <2
10

84,4m? =.......... dam? «.1
6,03dm? =......... dam? «.2
11

8b5cm?2=.......... mm? <1
3,07km?>=......... dam? «.2
12

74,2dm?> = .. ... .. .. mm? «.1
7,.87Tem? =. .. ........ m? .2
13

s adll eMgmeall sl

4 e 2 dmdo
belhocine : https:/f5r0f27math.weebly.com/



25,8 dm?

2,09 hm? =

74,6mZ=... .. .. .... cm? <1
5,95m2=........... hm? «.2
14

1,23dam? =......... dm? «.1
5,24dm?> =......... dam? «.2
15

3,5dam?® =........... m? <1
3,09dam? =......... hm? «.2
16

73,9m?=.......... dam? «.1
38,6km?>=.......... hm? «.2
v

10, 7dm? =......... dam? «.1
2,3dam®>=.......... hm? «.2
18

Lim?2=............ dm? <1
844hm?=........... m? «.2
19

s adll eMgmeall sl

4 e 3 dmio
belhocine : https:/f5r0f27math.weebly.com/



*.C’

1,47dm? = . . ... ... Q‘OC\HP <5 |20,8dm?=........... m? «.3

2,35cm? =. .. .. $® dm? «.6 | 4,55dam?=.......... m? <4 10,8dam® =....... .. km® «.1
(O%Q 4,18dm*=.......... cm?® «.2

AS
N
QO
S
%0
R

4 e 4 dmdo
belhocine : https://5r0f27math.weebly.com/



92, 3 km?

5,51 hm? =

7,88km3 =

2,69dm? =

4 el dmdo
belhocine : https:/f5r0f27math.weebly.com/

1

DA ezl sl

20,2dam® =......... hm3 <1
3,02dam3 =. ... ... ... m? .2
6

WA [ ERAIPESA sl



9,79cm?=...... ... mm?® <1
92,9dm? =......... dam® «.2
8

4,56km?=......... dam® «.1
20,9dam® =......... dm?® «.2
9

8,96km=........ .. hm? <1
86,5dam® = ... ... ... dm?® «.2
10

24, 1m3=..... ... .. hm? <1
60,5m3=........... hm? «.2
11

22, 6hm3=........ ... m’ <1
65, 4hm®=......... dam® «.2
12

9,35dam® =......... hm? <1
6,97km?=.......... hm? «.2
13

s adll eMgmeall sl

4 e 2 dmdo
belhocine : https:/f5r0f27math.weebly.com/



49,1 dam3 =

9,89 dam?® =

4,91km3 =. ... ... .. dam® «.1
51,4hm3 =........ .. km? «.2
14

98, 4dm? =. ... ... ... m? <1
66,4m3 =........... cm® .2
15

32,2m3=........... hm? <1
66hms=.......... dam® .2
16

855hm3=........ ... m? <1
3,47dm? = . ... ... .. mm?® «.2
7

28,3dm®> = ......... mm?® <1
35,2dm? = .. ..... .. mm® «.2
18

60,8km? =.......... hm? <1
9,29cm3=........... m? .2
19

s adll eMgmeall sl

4 e 3 dmio
belhocine : https:/f5r0f27math.weebly.com/



©

3 $3 3 3
4,8hm° =........ éQ{In <.5 7,28dm° =........... m’ <3
2,48dm? =. .. .. @Q m® «.6 2,36dam® =......... hm3 «.4 75,3 dm

,2;\(\ 56, 5 km
AS
N
KO
R
%0
R

4 e 4 dmdo
belhocine : https://5r0f27math.weebly.com/
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7,72 hg="77,2 dag

kg | hg\dag | g | dg | cg | mg
| 2[0[0]0

1,03 dam=103 dm

km‘hm‘dam‘m‘dm‘cm‘mm

(0] 0
1,4 daL=1400 cL

54,3 cL=5,43 dL

.........................

61,1 hL=6 110000 mL

hL | daL | L | dL | cL | mL
61 [ 1. [o]o o],

84,7 km=84700 m

km | hm | dam | m | dm | cm | mm

8 [ 7] 0 |0, 000

7,21 dam=72 100 mm

km | hm | dam | m | dm | cm | mm

0] 0] 7 [2] 1 ][0]0,

B P N T o)

<4

<.5

«.6

<4

<.5

«.6

<4

<.5

<.6

1

DA ezl sl

50 dL=5000 mL «.1

kg‘hg‘dag\g‘dg‘cg‘mg
ojo] o 62 ]2]0,
76,6 daL=766 L .3
hL | daL | L | dL | cL | mL
716 6000

AWl cdgeell s

12,6 L=126 dL «.1

55,2 kg=552 hg «.2

kg hg‘dag‘g‘dg‘cg‘mg
olofo]o

54,9 dm=0,00549 km «.3

km hm‘dam‘m‘dm‘cm‘mm
5

Al eMgmall szl

46,5 cm=0,465 m «.1

dam | m | dm | cm | mm

4 6 5
1,56 dm=0,000 156 km «.2

dam | m | dm | cm | mm

0] 0] 0 0|1 [5] 6
6,67 dL=0,0667 dal «.3

4

s Al eMgmeall sl

6 oo 1 Amige
belhocine : https:/f5r0f27math.weebly.com/



1,63 L=16,3 dL

0, 0] 0 [2]6 [5]0
4,1 dag=4100 cg
kg | hg | dag | g | dg | cg | mg

00| 4 |1]01]0,1 0

oo

,61 dg=0,000861 kg
dag | g | dg | cg | mg

0] 0 0|8 [6]1
2,55 dg=0,0255 dag

dag | g | dg | cg | mg
012 |55

45 cL=0,0045 hL

0,.1..0..1.0. [ 4[5 |0

22 dL=22 L
hL | dal | L | dL | cL | mL
0] 0 ]2]2]0]0

1,78 km=1 780 000 mm

km‘hm‘dam‘m‘dm‘cm‘mm

64 dg=0,0064 kg
kg‘hg‘dag\g‘dg‘cg‘mg
0] 0] 0 ]J6]lafo]o0

<4

<.5

<4

<.5

<.6

<4

<.5

<.6

<.2

1,46 hm=0,146 km «.1

dam | m | dm | cm | mm

0, 1 4 6| 0 0 0
63,8 dam=6,38 hm «.2

dam | m | dm | cm | mm

3 8100/ 0
60,6 cg=6,06 dg <.3

Al edgeell il

42 h.=42000 dL. «.1

L | daL | L | dL | cL | mL
42 1 0 ]0[g [o]o0

2 Mgl ]

17,1 hm=1,71 km «.1

km‘hm‘dam‘m‘dm‘cm mm
o oo/ o
6,25 hL=6 250 dL «.2

DAl eMgmeall sl

80,3 daL=803 L «.1

6 oo 2 Amigo
belhocine : https:/f5r0f27math.weebly.com/



66,2 dag=6620 dg «.5

1,7 hL=17 dal. «.6

6,4 daL.=6400 cL «.4

6,13 dm=0,006 13 hm .5

7,32 km=73200 dm «.6

6,27 g=6270 mg «.4

4,54 daL=454 dL. «.5

2,3 daL.=0,23 hL «.6

9,63 g=553 cg «.3

3,86 dg=0,0386 dag «.4

96,4 hg=9640 g <.5

At o 5 Sl

6,68 daL.=66,8 L «.3

hL | daL | L | dL | cL | mL
6

hL | daL | L | dL | cL | mL
0

.
..........................

8

s adll edlgeell sl

4,82 m=482 cm «.1

cm | mm

w
=
=
=
o,
Q0
B

1B
o
=

8 2 0

B T -3

1,83 dam=0,018 3 km «.2

km | hm | dam | m | dm | cm | mm

0, 0 1 8|1 3 0 0
7,15 daL=0,715 hL. «.3

9

Al edgeedll sl

4,78 dm=478 mm .1

km | hm | dam | m | dm | cm | mm

0 0 0 0| 4 7 8

P o)

28,5 cm=0,0285 dam «.2

km | hm | dam | m | dm | cm | mm

0] 2 |8 | 5
53,8 m=0,538 hm «.3

km | hm | dam | m | dm | cm | mm
3

8 0 0

10

AWl gl ]

13,6 L=1,36 daL. «.1
dL ‘ cL ‘ mL

316070
4,73 kg=4730000 mg «.2

6 oo 3 Amiio
belhocine : https:/f5r0f27math.weebly.com/



78 g=780 dg
kg | hg | dag | g Jdg | cg | mg
00 7 &0 [0]0
9,03 L=90,3 dL
hL | daL | L | dL | cL | mL
0] 0 1]9]0 3]0
5,58 hm=>55800 cm
km | hm | dam | m | dm | cm | mm
0 15 ].5.18]1.0.,01]0
6,04 hm=0,604 km
km | hm | dam | m | dm | cm | mm
0 6 0 4 0 0 0

P

8,27 daL=82,7 L

0,710 ‘0‘0‘0

4,78 L=47,8 dL
hL | daL | L | dL | cL | mL
ol o fafrlsfo

4,28 km=42.8 hm

km‘hm‘dam‘m‘dm‘cm‘mm

g8 JojofJo] o
16,5 L=16 500 mL

.
..................

<.6

<4

<.5

<.6

<4

<.5

«.6

<4

<.5

«.6

11

Al edgeell sl

7,21 dag=7210 cg «.1

kg | hg | dag | g | dg | cg | mg
OJ0 |7 12,1100
2,01 dag=20100 mg «.2
kg | hg | dag | g | dg | cg | mg
0102 0] 1]0]0,

7,67 dm=0,00767 hm «.3

12

2l Syl s

77,8 m=7780 cm «.1

------------

13

Al eMgmell szl

1,24 dm=0,00124 hm «.1

hL | daL

6 cyo 4 Amige
belhocine : https:/f5r0f27math.weebly.com/



7,78 hL=7"780 dL

.....

7,78 hm=778 000 mm

m‘dm‘cm‘mm

4,36 hLL=43 600 cL
hL | daL | L | AL | cL | mL

4 [ 3 [6[00 [0

79,8 dL=0,798 daL
hL | daL | L | dL | cL | mL

26,5 m=26 500 mm

66,7 cL=667 mL

3,13 dg—0,0313 dag
| b | dog | | di | c | ms
0ojo]o_]0]3[1]3

<4

<.5

<.6

<4

<.5

«.6

<4

<.5

«.6

14

DA ezl sl

9,08 g=0,908 dag «.1

kg | hg | dag | g | dg | cg | mg
ojojo._[9]o]|8] O

80,3 cg=8,03 dg «.2
kg | hg | dag ‘ dg ‘ cg ‘ mg
0]0] 0 fo]s. |03

15

AWl cdgeell s

96,2 AL =962 cL «.1

hL | daL | L | dL | cL | mL
o[ o0 fof[6 [2]0
12,6 L=126 dL «.2
hL [ daL | L | dL | cL | mL
01 1 [2]6[0]0
2,33 dag=23300 mg «.3
kg | hg | dag | g | dg | cg | mg
ofof2[3]3]0]0,

16

Al eMgmall szl

8,77 dL=0,0877 daL «.1

17

s Al eMgmeall sl

6 o b Amiso
belhocine : https:/f5r0f27math.weebly.com/



9,32 dL=0,009 32 hL
hL | daL | L | dL*¢L | mL

0 0 Y 3 2

[N A
35,1 daLL.=35100 cL
hL | d&L,Y L | AL | cL | mL

313 [1]o00 | o0
64,5 km=64500 m

km‘hm‘dam‘m‘dm‘cm‘mm

64 | 5] 0 o, 000

68,4 dag=684 g

24 dL=2,4 L

<4

<.5

<4

<.5

<.6

<4

<.5

<.6

At o 5 Sl

13,6 L=0,136 hL «.1
hL | daL | L | dL | cL | mL
3

[ T

8,33 dL=83,3 cL. «.2
hL | daL | L | dL | cL | mL

0] 0 [0]8 |33

88,9 dL=0,889 daL «.3
hL | daL | L | dL | cL | mL

0] 0,_|8|8 9]0

18

Al edgeell il

6,42 km=6420 m «.1

km | hm |dam | m | dm | cm | mm
6.1 .41 .2 1]0]07]0 0

57,6 cm=0,0576 dam «.2
km | hm | dam | m | dm | cm | mm
O] 0| 0_]0}| 5 |7 6

6,17 hm=61700 cm «.3
km | hm | dam | m | dm | cm | mm
0] 6. | .1 | 70010, |0

19
2l Syl s

4,94 hg=49.4 dag «.1

.......................

6 oo 6 Amiio
belhocine : https:/f5r0f27math.weebly.com/



2,54m? = 0,025 4 dam? «.4
9,12m? = 91200 cm? «.5

7,08 km? = 70800 dam? «.6

km? hm? dam? m? dm? cm? mm?2
5 1918,
8 |1.]14 10,
0,0 3 ]3]5
0,012 |5 |4
9 11121010,
7.0 1.8 10 10,
6,23m? = 0,062 3 dam? «.4
32,5dm? = 0,003 25 dam?® «.5
71,9hm? = 0,719km? «.6
km? hm? dam? m?2 dm? cm? mm?
9 12 13 ]9
41914,
5 |5 [7.10.10.109,
0,016 12 |3
0,010 13 12 1|5
0,7 1119
69 km? = 6900 hm? «.4
5,29hm? = 52900 m? «.5
6,4 dam? = 64000 dm? «.6
km? hm? dam? m?2 dm? cm? mm?2
0,19 |5 |1
9 1712
0,1 |5 |1
9 1010,
5 1.2.19.10.10,
6 14101010,

1
DA Mgzl sl

5,98dm? = 598 cm? «.1
81,4cm? = 8 140 mm? «.2

3,35cm? =0,0335dm> «.3

2
DA ezl sl

92,3dm? = 9230cm? <1
4,94m? = 494dm? «.2

55,7m? = 557000 cm® «.3

3
DA ezl sl

95,1dam? = 0,951 hm? «.1
9,72dm? = 972 cm? «.2

15,1hm? = 0,151 km?® «.3

4
AWl gl sl

7 oo 1 dige
belhocine : https:/f5r0f27math.weebly.com/



64,4cm? = 0,00644 m? «.4
79, 7hm? = 7970 dam? «.5

3,01 km? = 30100 dam? «.6

3,33dam? = 0,0333hm? <1
1,75dm? = 0,000 175 dam? «.2

63hm? = 630000 m? «.3

kni? hm? dam? m? dm? cm? mm?
0,10 |3 |3 |3
0, ] 0 [0 0 |1 |7 |5
6 1310101010
0,010 |6 |4 |4
79 L1,
3.0 111019,
>
DA ezl sl
5,13hm? = 0,051 3km? «.4
) ) 97,3cm? = 9730 mm? <1
7,37Tm* = 737dm* «.5
5,15km? = 51500 dam? «.2
24,4 dam? = 244000 dm? «.6
8,51dm? = 851 cm? .3
km? hm? dam? m? dm? cm? mm?
9 | 71310,
5.1 151010,
8 .15 |1
0,0 (5 |1 |3
T30
2 |4 4101010,
6
AW gl sl
7,77dm? = 777 cm? «.4
9 9 71,9cm? = 7190 mm? «.1
58,2dam”* = 0,00582km~* «.5
59,5km? = 5950 hm? «.2
35,3dam? = 0,353 hm? «.6
75,3hm? = 7530 dam® «.3
km? hm? dam? m? dm? cm? mm?
7190,
919519
715 1310,
LT
0,0 [0 |5 |8 |2
0,13 15 |3

.
AWl gl sl

7 oy 2 doiie
belhocine : https:/f5r0f27math.weebly.com/



8,75dm? = 0,0875m? «.4
76,8 dam? = 0, 768 hm? «.5

1,14m? = 0,011 4dam? «.6

4,85m? = 0,000485 hm? «.1

64,1m? = 641000 cm? «.2

7,95 dam? = 0,000 795 km? «.3

kni? hm? dam m? dm? cm? mm?
0,10 10 |0 |4 5
6 |4 |1 10 10 10,
0,0 10 10 17 19 |5
0,,]0 [8 |7 |5
0,7 ]6 |8
0,0 |1 |1 |4
8
AWl gl sl
5,34cm? = 0,0534dm> «.4
42cm? = 0,0042m? «.1
3,01km? = 301 hm? «.5
7,1hm? = 71000 m? «.2
73,5dm? = 735000 mm? «.6
22, 3hm? = 2230dam® «.3
km? hm? dam? m? dm? cm? mm?
0,10 10 |4 |2
7111010 10,
2 12 13 0,
0,.]0 |5 |3 |4
310 |1,
713151010 10,
S
sl gl sl
51,2cm? = 5120 mm? «.4
) ) 89m? = 0,0089hm? «.1
2,86 cm” = 0,0286dm~ «.5
3,33hm? = 33300 m? «.2
43,8 cm? = 4380 mm? «.6
41m?2 = 410000 cm? «.3
km? hm? dam? m? dm? cm? mm?
0,10 10 1819
313 1310 10,
4 11 1010 10 10,
5 |1 12 10,
0,10 12 |8 |6
4 13 18 |0,
10
AWl gl sl
belhocine : https:/f5r0f27math.weebly.com/




9,75m? = 97500 cm? «.4
6,6 dam? = 66 000 dm? «.5

8,29 dam? = 829 m> «.6

k2 hm? dam m?2 dm? cm? mm?
0,.[8.]14 |4
0,0 [0 10 |6 |0 |3
0,10 [5 |7 |4
9 17151010,
616101010,
8 .1.2.]9,
3,84dm? = 38400 mm? «.4
99,6m? = 0,996 dam® «.5
1,85dam? = 185m? «.6
km? hm? dam? m?2 dm? cm? mm?
8 19,19,
300 171010,
0,10.10 |4 |5 |4
318141010,
0,.09.19 |6
L 18 15
13,1dam? = 1310m? «.4
21,5dm? = 2150 cm?® «.5
15,7m? = 157000 cm? «.6
km? hm? dam? m?2 dm? cm? mm?
To1412.10.1010,
0,010 [0 |7 |8 |7
8 | 710 19,
431110,
2 111510,
Lo |7 10| 019,

84,4m? = 0,844 dam® «.1
6,03 dm? = 0,000 603 dam® «.2

5,74hm? = 0,057 4km? «.3

11
DA Dbyl szl

8,5cm? = 850 mm? «.1
3,07km? = 30700 dam? «.2

45,4cm? = 0,00454m? «.3

12
s Al eMgmall szl

74,2dm? = 742000 mm? «.1
7,87cm? = 0,000 787 m? «.2

87hm?2 = 8700 dam? «.3

13
AWl gl sl
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6,38 dam? = 638 m? «.4
29dm? = 0,0029 dam?® «.5

62,3dam? = 0,623 hm? «.6

74,6 m? = 746000 cm? «.1
5,95m? = 0,000 595 hm? «.2

75,5dm? = 0,755 m? «.3

kmi? hm? dam? m?2 dm? cm? mm?
71416101010,
0,0 1010 ][5 ]9 |5
0,715 |5
6 13 ]38
0,0 10 12 ]9
0,162 1]3
a4
DA Dbyl szl
7,17hm? = 717 dam? «.4
) ) 1,23dam? = 12300 dm? «.1
52cm” = 0,52dm” «.5
5,24 dm? = 0,000 524 dam? «.2
78,1dam? = 7810m? «.6
91,4hm? = 914000 m? «.3
km? hm? dam? m?2 dm? cm? mm?
L1213 1010,
0,0 [0 10 |5 |2 |4
9 |1.]4.10.]0 10,
T
0,052
T8 110,
15
s aJudi C_s){._'}_zﬂ\ J'_?_'.T
2,09hm? = 0,0209km? «.4
) ) 3,5dam? = 350m? «.1
66,6 m* = 0,666 dam* «.5
3,09dam? = 0,0309hm? «.2
3,32hm? = 33200 m? «.6
25,8dm? = 0,002 58 dam® «.3
km? hm? dam? m?2 dm? cm? mm?
315109,
0, 0.3 1019

16
2 Mgl ]
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8,48 m? = 848 dm? «.4
38, 7hm? = 3870 dam? «.5

55,3m? = 0,00553 hm? «.6

73,9m? = 0,739 dam? «.1
38,6km? = 3860 hm? «.2

6,88dm? = 68800 mm? «.3

knf? hm? dam? m?2 dm? cm? mm?
0, |7 ]3 ]9
8 1610,
6 .18 .18.10.]0,
8.14.18
318 1710,
0, 0.0 15 .15 |3
r
AWl cdgeell i
41,4hm? = 414000 m? «.4
) ) 10, 7dm? = 0,001 07 dam? «.1
55,1m? = 5510dm? «.5
2,3dam? = 0,023 hm? «.2
55,6dm? = 0,556 m> «.6
79,1dm? = 7910cm? «.3
km? hm? dam? m?2 dm? cm? mm?
0, 0] 0 [ 1 [0 |7
0,10.12]3
T19.01 ]9,
4 11 14101010,
5 |95 1119,
0,2 D |6
18
s adll ezl szl
9,65 cm? = 965 mm? «.4
1,1m? =110dm? <1
8,89 hm? = 88900 m? «.5
8,44hm? = 84400 m? «.2
6,44m? = 0,064 4 dam? «.6
3,58 dam? = 35800 dm? «.3
km? hm? dam? m?2 dm? cm? mm?
L1009,
8 |4 141010,
319181010,
9 1613,

19
AWl gl sl
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4,55dam? = 455 m? «.4

) ) 10,8 dam? = 0,001 08 km? «.1
1,47dm” = 147cm* «.5

4,18dm? = 418 cm? «.2
2,35cm? = 0,023 5dm? «.6

20,8dm? = 0,208 m? «.3

knt? hm? dam? m? dm? cm? mm?
0,010 |1 10 |8
41118,
0,..2.]0 |8
41513
L1417,
.0.02 13 |9

7 oo T dio
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5,51 hm® = 0,00551 km?® «.4

69,9hm? = 0,0699km?> «.5

61,6 dm? = 61600 cm?® «.6

1

DA Mgzl sl

2,69hm? = 2690 dam?® «.1

7,84 cm? = 0,000007 84 m?> «.2

92,3km? = 92300hm® «.3

2

AWl gl sl

9,9dm? = 0,0099m? «.1

3,66 m3 = 0,000 003 66 hm® «.2

7,88km?® = 7830 hm? «.3

3

WA [ ERA TIPS sl

54,3hm? = 54 300 dam® «.1

7,58 dm?® = 7580000 mm?> «.2

80,9km? = 80900 hm?® «.3

km hm? dam? m? dm? cm? mm?
2 161910,
0,010 10 [0 [0 |7 8|4
9 2131010,
0,.0.]0 |5 |5 |1
0, 0. 1619 19
6 |1.]6.]0.]0,
2,69dm?® = 0,00269m? «.4
2,88 dm? = 0,000002 88 dam® «.5
1,57 cm? = 0,000001 57 m* «.6
km? hm?3 dam? m3 dm?3 cm? mm?
0,010 19 19
0,10 .10 10 10 10 |3 ]6 |6
718 18109,
0, 0.0 1216 |9
0,10.10.10.10.10 12 |8 |8
0,010 10 [0 [0 |1 |5 |7
2,09 cm?® = 0,00000209m?> «.4
5,13m? = 0,005 13 dam® «.5
9,53 cm? = 0,00953dm> «.6
km3 hm3 dam? m? dm? cm? mm?
5 141310 10,
74018101010
8 0191010,
0,010 10 10 10 12 0|9
0, 0.0 |5 |13
0,10 1019 ][5 |3

7 oo 1 dige
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4,78 hm? = 4780 dam® «.4

2,82m> = 2820000 cm?® «.5

51,5km? = 51500 hm® «.6

79, 7m? = 79700 dm® «.1

14,6 dm? = 14600 cm? «.2

61 dam?® = 61000 m*® «.3

ks hm?3 dam? m3 dm?3 cm? mm?
719 171010,
I (416 10 10,
6 |1 [0 10 10,
4 17 18 10,
2 181210 1010 |0,
5 51010,
s
Z@m‘ﬁyﬁzﬂ‘)’@i
1,65 km? = 1650000 dam® «.4
20,2dam? = 0,0202hm? «.1
7,89 cm® = 0,007 89 dm?> «.5
3,02dam® = 3020m> «.2
70, 7cm® = 0,000070 7m> «.6
2,41km® = 2410 hm?® «.3
km3 hm?3 dam? m3 dm?3 cm? mm?>
0,10 (2 10 |2
310 12 |0,
4 |1 10,
|6 15 10 10 10 |0,
0,0 10 |7 1819
0,10 10 10 10 |7 |0 |7
6
:a.gu_rm%_,_ﬁt)-_?di
4,38 cm? = 0,00438dm>® «.4
2 5 94,3dm* = 0,0943m* «.1
2,02m? = 0,00000202hm?> «.5
2,66 dam® = 2660000 dm® «.2
7,39dam?® = 7390m> «.6
70,1m? = 0,000070 1 hm® «.3
km3 hm?3 dam? m? dm? cm? mm?
0,10 [9 |4 |3
216 16 10 10 10 10,
0,10 (0 10 |0 |7 10 |1
0,010 14 13 |8
0,10 10 10 10 |0 (2 |0 |2
7131910,

7 oy 2 doiie
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3,95hm?® = 3950 dam?® «.4

4,6cm® = 0,0000046m> «.5

94,4dm? = 0,000 094 4 dam® «.6

92,9dm? = 0,0000929 dam® «.2

9,79cm?® = 9790 mm?® «.1

1,98 dam?® = 1980000 dm? «.3

ans hm3 dam? m3 dm?3 cm? mm?>
9 1719 10,
0,0 10 10 10 19 2 |9
11918 10 10 10 10,
319 15 10,
0,10 10 10 10 10 14 |6
0,,/0 10 10 10 |9 14 |4
8
DA ezl sl
5,51m3 = 0,000005 51 hm® «.4
5 3 4,56 km?® = 4560 000 dam® «.1
8,13m? = 0,008 13 dam?® «.5
20,9 dam?® = 20900 000 dm?® «.2
64,6 dm?> = 0,000 064 6 dam® «.6
4,06 dam?® = 0,004 06 hm>® «.3
km3 hm?3 dam? m3 dm?3 cm? mm?>
4 1516 10 10 10 |0,
2104191010 10 10 10,
0,10 [0 14 (0 |6
0,10 [0 10 10 10 15 |5 |1
0,10 10 |81 |3
0,0 10 10 10 |6 |4 |6
s
s adll eMgmall szl
6,62m> = 0,006 62 dam® «.4
8,96 km?® = 8960 hm> «.1
81,3hm3 = 0,081 3km® «.5 o s
86,5 dam?® = 86 500 000 dm® «.2
74,1cm® = 74100 mm® «.6
9,91 hm? = 0,00991 km?> «.3
km3 hm?3 dam? m3 dm?3 cm3 mm?>
8 19 16 10,
8 16 15 10 10 10 10 10,
0,0 [0 19 19 |1
0,10 10 |6 |6 |2
0,10 |8 |1 |3
714 |1 1010,

7 oo 3 diio
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5)86 hm?® = 0,005 86 km® «.4

96,6 cm® = 0,000096 6 m> «.5

3,12cm® = 3120mm® «.6

24,1m3 = 0,000024 1 hm® «.1
60,5m3 = 0,0000605hm?> «.2

3,27cm?® = 3270 mm?® «.3

ka3 hm? dam? m? dm?3 cm? mm?
0,10 10 10 10 |2 |4 |1
0,10 10 10 10 16 10 |5
312 1710,
0,0 10 |5 |8 |6
0,10 10 10 10 19 16 |6
311 12 10,
11
AWl gl sl
1,66 dm® = 0,001 66 m® «.4
22,6 hm® = 22600000 m?> «.1
51,3cm? = 0,051 3dm?> «.5
65,4hm? = 65400 dam® «.2
63,6dm>® = 0,0636m?> «.6
27cm?® = 0,027dm> «.3
km? hm?3 dam? m? dm?3 cm? mm?
21216 (01010 (0 10,
6 |5 14 10 10,
0,10 12 |7
0,10 [0 |1 |6 |6
0,10 15 |1 ]3
0,0 [6 |3 |6
12
Al eHgeell sl
61,8 dam?® = 0,000 061 8 km® «.4
5 3 9,35dam?® = 0,009 35 hm? «.1
19,7m3 = 0,000019 7hm?® «.5
6,97km? = 6970 hm? «.2
94,1hm? = 0,094 1 km?> «.6
48,7m?3 = 0,048 7dam?® «.3
km? hm? dam? m? dm? cm? mm?
0,,]0 10 19 13 |5
6 19 [7 10,
0,10 14 |8 |7
0,10 .10 10 10 (6 |1 |8
0,10 10 10 10 11 19 |7
0,019 14 |1
13
AWl gl sl
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57%)7m3 = 0,000057 7hm? «.4

4,91 km? = 4910000 dam® «.1
79,3hm? = 79300 dam® «.5

51,4hm? = 0,051 4km?> «.2
16,8 dam?® = 0,000016 8km?> «.6

1,81cm? = 1810mm?® «.3

K hm?3 dam? m3 dm?3 cm? mm?
4 19 1110 10 10 10,
0,0 |5 |1 |4
L ]88 |1.10,
0,10 10 10 10 15 |7 |7
719 131010,
0,10 10 10 10 |1 |6 |8
14
Z@m‘ﬁyﬁzﬂ‘)’.zﬁ
1,77cm3 = 1770 mm?® «.4
5 5 98,4dm* = 0,0984m> «.1
3,53km?® = 3530 hm? <.5
66,4m3 = 66400000 cm® «.2
6,76 dm? = 6 760000 mm® «.6
9,47 dam® = 0,00947 hm® «.3
km3 hm?3 dam? m3 dm?3 cm? mm?>
0,,]0 19 |8 |4
6 16 14 10 10 10 [0 |0,
0,10 [0 19 |4 |7
L |7 |7 10,
3195 13 10,
6 |7 16 10 [0 10 |0,
15
:@Lﬁla)@j_zﬂqu_ﬁ
2,0lcm® =2010mm® «.4
) 5 32,2m* = 0,0000322hm* «.1
97,5m3 = 0,000097 5hm® «.5
66 hm?® = 66 000 dam> «.2
7,61km3 = 7610hm® «.6
12,8m?3 = 0,0128dam® «.3
km? hm?3 dam? m3 dm?3 cm? mm?
0,10 10 10 10 |3 2 |2
6 16 10 10 10,
0,10 11 12 |8
2. 10 (1 10,
0,10 10 10 10 19 |7 15
716 |1 10,

7 iy b diio
belhocine : https:/f5r0f27math.weebly.com/

AWl gl sl

16



9,89 dam?® = 9890m> «.4

65,4m3 = 0,0654dam?® «.5

6,45 dam?® = 0,000 006 45 km> «.6

8,55 hm? = 8550000 m? «.1

3,47dm? = 3470000 mm?® «.2

49,1dam? = 0,049 1 hm*® «.3

17

Al edgeell sl

28,3 dm?3 = 28 300000 mm? «.1

35,2dm3 = 35200000 mm® «.2

20,3 dam?® = 0,000 020 3km® «.3

18

s adll edgeedll sl

60, 8km? = 60800 hm?® «.1

9,29 cm?® = 0,00000929m> «.2

9,88hm? = 0,009 88 km?> «.3

ks hm?3 dam? m3 dm?3 cm? mm?>
8 |5 15 10 10 10 |0,
314 1710 10 10
0,10 (4 19 |1
9 18 19 10,
0,10 16 |5 |4
0,10 10 10 10 |0 |6 |4 |5
21,6 hm? = 21600000 m® «.4
7,57cm® = 0,00757dm? <.5
6,53 dam?® = 0,006 53hm> «.6
km3 hm? dam3 m? dm? cm? mm?
2 1813101010 (0
319512101010 (0
0,10 10 10 10 |2 |0 |3
21116 10 (0 (0 |0 |0,
0,0 |0 |7 |5 |7
0,0 [0 16 |5 |3
66,3 dm?® = 66 300 cm® «.4
9,44m3 = 0,00944 dam?® «.5
2,33 dam?® = 0,00000233km> «.6
km3 hm?3 dam? m3 dm?3 cm3 mm?>
6 10 (8]0 10,
0,10 10 10 10 10 (9 1219
0,0 [0 19 |8 |8
6 |6 13 10 10,
0,0 10 19 |4 (4
0,10 10 10 10 10 |2 |3 |3

7 oo 6 dziio
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236 dam® = 0,002 36 hm® «.4

75,3dm? = 75300 cm® «.1
4,88hm? = 0,004 88km?> «.5

56, 5km? = 56 500 hm® «.2
2,48dm? = 0,00248 m? «.6

7,28dm? = 0,00728 m? «.3

kan hm3 dam? m? dm? cm? mm?

P I P o

<D
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